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< 05

efficiency vs dxy(PV,
o o
O N

o ¢
O N © w

5 10 15 20

TP dxy(PV) (cm)

—"— DQM_original_1000evt

[Efficiend —— DQM.fitted4_1000evt

-0.2 0 02 04 06

0.8

TP dxy(PV) (cm)

Efficiency vs Dz(PV)

0.8
0.7
0.6

0.5

efficiency vs dz(PV)

0.4

0.3

0.2

Ratio

=30 -20 -10 O 10 20

30

TP dz(PV) (cm)

Efficiency vs Dz(PV)

S\O.S_
a
§ 07 !
2 : : : : :
>06 e e I
(8] .
S : : : :
i i R AR A | A
& : : : :
0.4f-+4---f-- AR R o REEE
o drcfoe e b e
Y e e
0.1 s
i
o~ '
]
@
J 1
005

0.5 1
TP dz(PV) (cm)




	Contents
	Page 1


